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B. SC. (HONOURS) BIOCHEMISTRY  

(BSCBCH) 
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December, 2022 

BBCCT-119 : HORMONE : BIOCHEMISTRY  

AND FUNCTION 

Time : 3 Hours     Maximum Marks : 70 

Note : Attempt any seven questions. All questions 

carry equal marks. 

1. Write short notes on any four of the following :  

4×21
2
=10 

(i) Chemical signalling 

(ii) Hypopituitarism 

(iii) Oxytocin 

(iv) Erythropoietin 

(v) Competitive immunoassay 
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2. Explain briefly : 21
2
×2=5 

 (a) (i) Why are steroid hormones not 

packaged into secretory vesicles ?  

(ii) Distinguish between Autocrine and 

Paracrine signalling. 

(b) Enlist the hormones secreted by the 

hypothalamus-pituitary axis. 5  

3. Write short notes on any two of the following :  

2×5=10 

(i) Hashimoto’s disease 

(ii) Acromegaly 

(iii) Addison’s disease 

4. What are growth factors ? Explain the 

mechanism of Platelet Derived Growth Factor 

(PDGF) with the help of a diagram. 10 

5. Explain the structure of thyroid gland. Write 

Pathophysiology of Goitre and its treatment. 

5+5  
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6. Discuss the structure and functions of 

parathyroid hormone. 10 

7. Write origin and functions of any two of the 
following hormones : 2×5=10 

(i) Glucocorticoids 

(ii) Cholecystokinin 

(iii) Growth hormone 

8. (i) What are the different types of hormone 
receptors ? 5 

(ii) What is Scatchard Analysis ? Explain with 
the help of graph. 5 

9. Define secondary messengers. Explain the role 
of cAMP or Nitric oxide (NO) in signal 
transduction.  4+6 

10. Define ELISA and describe its different types 
with suitable diagram. 10 

 
  

 

  



 [ 4 ] BBCCT-119 

   

      BBCCT-119 

ch- ,l-&lh- (vkWulZ) ck;ksdSfeLVªh  

(ch- ,l- lh- ch- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2022 
ch- ch- lh- lh- Vh--119 % gkWeksZu % tSojlk;u  

vkSj dk;Z 

le; % 3 ?k.Vs     vf/dre vad % 70 
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vad leku gSaA 

1- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×21
2
=10 

(i) jklk;fud ladsru 

(ii) vYiih;w"kxzafFkrk 

(iii) vkWDlhVksflu 

(iv) ,fjFkzksikWbfVu 

(v) izfrLi/hZ bE;wuks,sls 
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2- la{ksi esa le>kb, % 21
2
×2=5 

 (d)  (i) LVsjkW;M gkWeksZu dks lzkoh iqfVdkvksa esa D;ksa 

ugha iSd fd;k tkrk \  

 (ii) vkWVksØkbu vkSj iSjkØkbu ladsru esa varj 

crkb,A 

([k) gkbiksFkSysel&ih;w"k v{k }kjk lzkfor gkWeksZuksa dh 

lwph cukb,A 5 

3- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   2×5=10 

(i) gkf'keksVks jksx 

(ii) ,Øksfexsyh 

(iii) ,fMlu jksx 

4- o`f¼ dkjd D;k gksrs gSa \ IysVysV O;qRiUu o`f¼ 

dkjd (PDGF) dh dk;Zfof/ dh fp=k lfgr O;k[;k 

dhft,A   10 

5- Fkk;jkWbM xzafFk dh lajpuk le>kb,A ?ksa?kk dh 

iSFkksiQhft;ksykWth vkSj blds mipkj ds ckjs esa fyf[k,A 

5+5 
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6- ijkoVq gkWeksZu dh lajpuk vkSj dk;ks± ds ckjs esa ppkZ 

dhft,A   10 

7- fuEufyf[kr esa ls fdUgha nks gkWeksZuksa dh mRifÙk vkSj 

dk;Z fyf[k, % izR;sd 5 

(i) XywdksdksfVZdkWbM 

(ii) dksysflLVksdkbfuu 

(iii) o`f¼ gkWeksZu 

8- (i) gkWeksZu xzkfg;ksa ds fofHkUu izdkj dkSu&ls gksrs  

gSa \   5 

 (ii) LdSpMZ fo'ys"k.k D;k gksrk gS \ xzkiQ lfgr 

O;k[;k dhft,A 5 

9- f}rh;d lans'kokgd dks ifjHkkf"kr dhft,A ladsr 

ikjØe.k esa cAMP ;k ukbfVªd vkWDlkbM (NO) dh 

Hkwfedk dks le>kb,A 4$6 

10- ELISA dks ifjHkkf"kr dhft, rFkk mi;qDRk fp=k dh 

lgk;rk ls blds fofHkUu izdkjksa dh O;k[;k dhft,A  

10 
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